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Acircle C has centre (—4, 1) and passes through the point P(0,3). Q)

() Find an equation for the circle C. CQC N CA) : +(:j - b) e ( o b)
“ 2 - ‘)1
re- (;(2,;@) +gz j

B (0+w)" + (3‘01
K 2?2 - 920 =20

(b) Find an equation for the tangent to the circle at P.
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Acircle C has centre (—4, 1) and passes through the point P(0,3).

(a) Find an equation for the circle C.

(b) Find an equation for the tangent to the circle at P.

) ungEwT PERPENIICULAR To RADLUS
M, x My ==

Bl Gpaoer oF RADUS
RUN 3.\
. Mtkji/‘ﬂ /:1:—\— wm, =
-0 Otk Lk 2
GHROIENT ~ P (0,3)
ot ot M =T %

j,j‘ - W\CDC—DC‘)

3—3:72 2
:j;_zaC—{-S

Fsavemyexams

j: 3'29(





image8.png
The points A(3,5), B(S,3) and €(9,7) lie on a circle.

(a) Show that triangle ABC is a right-angle triangle.

(b) Explain why the line segment AC must be the diameter of the circle.

(¢) Hence find the equation of the circle.
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The points A(3,5), B(5,3) and €(9,7) lie on a circle. b)

(a) Show that triangle ABC is a right-angle triangle.
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The points A(3,5), B(S,3) and €(9,7) lie on a circle.

(a) Show that triangle ABC is a right-angle triangle.
(b) Explain why the line segment AC must be the diameter of the circle.

() Hence find the equation of the circle.
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Circles C;, €, and C; all have their centres on the x-axis. _
vl A cenceec, (-7,0) =z

Circle €, has equation (x +7)? + y2 = 4,

Circle C3 has equation x? + y? — 10x + 16 = 0. _
A-(-5.©
Circles C, and €, touch at point A, and circles C; and C; touch at point B.
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Acircle has equation x + y? — 12x + 14y = —68.

‘The lines I, and I, are both tangents to the circle, and they intersect at the origin.

(a) Explain why the equations for I; and [, must cach be in the form y = mx, where m is
the gradient of the line.

[}

(b) Show that the gradients of [, and [, must be the solutions to the equ:

19m? +84m +32 =0

(¢) Hence find the equations of 1, and L, giving your answers in the form.
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Acircle has equation x + y? — 12x + 14y = —68.

‘The lines I, and I, are both tangents to the circle, and they intersect at the origin.

(a) Explain why the equations for I; and [, must cach be in the formy =, where m is
the gradient of the line.

11
(b) Show that the gradients of {; and [, must be the solutions to the equation
MU o eamsaz=o
4
(c) Hence find the equations of I, and I,, giving your answers in the form y = mx.
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Acircle has equation x + y? — 12x + 14y = —68.

‘The lines I, and I, are both tangents to the circle, and they intersect at the origin.

(a) Explain why the equations for I, and [, must cach be in the form y = e, where m is
the gradient of the line.

[}

(b) Show that the gradients of [, and [, must be the solutions to the equ:

19m? +84m +32 =0

(c) Hence find the equations of I; and I, giving your answers in the form y = mx.

12
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Acircle has centre (6, ~5) and goes through the point (1, 7). Find the equation of the 2 % _ 'D)L: r*  cenvree (0\ k)
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(a) Show that x? + y? + 2x — 6y + 9 = 0 can be written in the form
, where a, b and r are integers to be found.

(b) Hence write down the centre and radius of the circle with equation
x2+y?+2x—6y+9=0.
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(a) Show that &2 4372 4 2% = 6y 49 = 0 can be written in the form b) 2 2_)
(x—a)? + (y — b)? = 12, where a, b and r are integers to be found. (9(‘ + ') + (j ‘3> -

@l R
(b) Hence write down the centre and radius of the circle with equation C ENTRE (e b)
x2+y?+2x—6y+9=0.
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Theline x +y = ~7 meets the circle with equation (x — 1)? + (¥ — 2)? = 50.
(i) Show that the line and circle meet at one point only.

(ii) Find the coordinates of the point of intersection.
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The line 7x +y = —6 intersects the circle (x = 2)* + (y = 5) = 25 atthepoints dand ~ SUR [N T O @
B. Find the coordinates of A and B.
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